Algebra 1/ Unit 10 Practice Test — Solving Quadratic Equations Name: Q’Y\S\DQ(\ \( Q\)\
(5 points each) -

. 1. The inverse of squaring a number is 8. Solvex?+ 10x = 39.

¥+ \10x-34=-0
SQL0s€ FOOJF (xx '\ (x-3) =6
X¥\3=0 %-3=0
x=3  x=3]

9. If the discriminant is negative, the equation

2. What is the standard form of a quadratic
equation?

m?)rbxsf c=0

has

(0 (ool so\uY100S

3. solvafe? ={16.

X = = 10. How many real solutions does the equation
below have?
9m?+ 6m+ 1= 0

4. What are the solutions of (x + 3)% = 49? a=4 b=C c=|

r_(x D) ___m b qQC 0

20 -

%4 3=7 XX3=-7 -7?&/“

-2 =3 -3 =3 11. What values of a, b, an?c shoul SO\u stituted
r = '-1 X =160 S into the quadratic formula to solve

5x%2-3x+2=0?

5. Solve-2(x-4)*+3= —125

“alx-dy = tza a=5 b=-3 €=
e
4?:7:{2 r
x-4 = ¥8g
Xx-4=6 x-4=-§
(x=1\2 X = "f\

12. Which formula is used to “complete the

6. Solve4x?= 14x+ 8

L‘Xa-\q)( _e:o x:ﬁl\g x:l‘;{;\—g_ Square
=y b=-y c=-8 7 8 8 <h¥
X= wi{zay X = Y X=

————-8 =
X= \yu3\8

R 13. What number should be added to both sides of
7. Which are the solutions of x* - 2x - 24 = 0? the equation to complete the square on

&-)x+D) =0 6x = 277
@ %-6=O X;L\;@ﬂ (-f"yl (3) E

X=6




b=-0
an ¢ =0

14. What are the solutions of 2v% + 128 = 0?
-\2% -\19%

2T =-10%

o 2
=64

15. If a quadratic equation has two solutions, it’s

graph would cross the x-axis Awee. .

WRITTEN RESPONSE (10 pts each)

16. Solve using square roots. \@-’) 18. Solve using the quadratic formula.

— —

3(x+ 2)2+ 4 = 112 -3x?+ 5x+2=0

=<3 o =
30 =0 il BEi iC
Z | ba—u\(l(/
G ;«Ssca (s) ,L‘(,s)(g)
wa == as+a4 =
- No=
"f?’f" *% -(Z uq <7 2 el so\
x=4 X=8 bty o
—— X = TP\ b-Hac
4\ ey
. Solve by completing the square. 7
17. Solve by completing the square. |0 «=-5 im
3x?-12x = 36, e
2 3 3 ©

“i“*"/i"*/‘i@ X=-5%7
’ (%3 = (’%33:. (—3\ -0 .

x>-Uy +Y =\ +Y X=Z541.2, X227
2
<X-Q~) :“ﬂ o ek X'Q\X
wed, =24 == -
= -a=-
X;f :{? xrl + a
X = -2




